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Topic:- Child Development & Pedagogy (CDP)

1) The least important reason for assessment in a child-centred education is / dTd-hiead

& & FeATHA FT G FA HAgcdqol FROT &-

1. monitoring their progress toward those goals / 3T &&T T 3R IoThl YT hr fAIRTAT
el

2. active engagement of students in setting goals for their learning and growth / 3T 3TT&3T

IR e & fav oeg AuiRa & 7 ol d a@fhg sarefiery
3. determining how to address any gaps / Toh&T 87 37Tl r &I HA Fr YR
4, learn core content knowledge and skills / HET el AT 3R Fiere

Correct Answer :-

« learn core content knowledge and skills / H&I T AT 3R Pl

2) How is aptitude distributed in human beings? / AT afa & yma;ﬁr FE 9w &
fafa &2

1. The distribution is normal. / fJdcRoT AMAT g1

2. The distribution is scattered. / TdaRUT 3redeaed gl

3. The distribution is skewed. / faa<or fawd 1

4. The distribution is multifariously. /ﬁFR'UT %%HHTQ‘\{UT %’I

Correct Answer :-

« The distribution is normal. / fAdRoT AT %’I

3) The mental representations or ideas about what things are and how we deal with them
are called / 1§ I 74T ¢ 3R &7 39% W0 F& yAER F §, 39 RAww § 399
I3 ARAF YfawT a1 fAaR # F1 A 8

1. Constructs / TATOT



2. Networks / scdeh
3. Schemas / T&hIAT

4, Structures / GTIAT

Correct Answer :-

« Schemas / ThrAT

4) In a classroom of 15 children where you have 15 different learning styles and 15 different
personalities, child-centred teaching is: / 15 d=aY Y H&T H FgT IS I 15 el
e W Y Aol 3 15 s AfFdeg I a9 €, ara-Hfega Riator:

1. Developing one lesson plan with one mode of teaching / T f&TOT YUTTell & ATY TH IS
AISfel faeh T e

2. Developing a lesson plan by looking at every child and what his or her needs are / Icdieh
g &l CER Teh UIS il AhfAd dl &, b 3HPT SRR FAT &

3. Developing a lesson plan targeting the middle of the class ability wise / &&TT T &THAT &
HEY T AR I U Teh IS ATl fapfdd e

4. Developing a lesson plan that fits all / T TS Tlelell AR iAd Xl g, of T & v
39ged gl

Correct Answer :-

« Developing a lesson plan by looking at every child and what his or her needs are / Ycdeh
g Pl @R Teh UTS Jloldll dhiad Pl 6, b 3T ST FIT gl

5) The theorist remembered as the "Father of Progressive education" is / "Serferefier fram
¥ JaF" & T A Ig e S g Rguiaer -

1. Friedrich Frobel / Waer Whider
2. John Dewey / SiTel $\é’

3. Jean Piaget / SfieT TS

4. Graham Gibbs / IgH Fred

Correct Answer :-
« John Dewey / STl 5\73

6) Piaget named potentialities and abilities as: / AT & &7AaT3T 33X WeIat =« T8
e o g



1. Schema / T&hT#AT

2. Accommodation / EHTAISTT (THIHSLI)
3. Ego centrism / 3IghegdlTd (39N AfegaH)
4, Assimilation / 3TTcH3IAThIOT

Correct Answer :-

« Schema / ThTHAT

7) In Discovery Learning, the teacher plays the role of a of learning. / 3/=dYoT
(FeEmad)) AR A, et A F van 1 s1farenT foremmer €

1. Counsellor / HellgahIX
2. Facilitator / SHeddh
3. Manager / JatTeh

4. Inspirer / U

Correct Answer :-

« Facilitator / SHoddh

8) Special Education is related to : / faaw faram C2ar: ) wafaq §:

1. Training programmes for gifted children / GfdTemel s=al & farw gferaqor COpEr)
2. Training programmes for teachers / fr&Tenr o forw wferetor HIIhe

3. Education for talented people / ITQSTRITST ol & forw fRvem

4. Educational programmes for disabled / fderelrelt & forw Aferr FIwH

Correct Answer :-

« Educational programmes for disabled / TA&aI@ll & forw e FrIwa

9) intelligence is associated with faster development / CHELGGL
daer fww & 31 2

1. No intelligence / g gﬂ'ﬁ' Tl
2. Medium Intelligence / H#EIH ﬂaﬁ

3. Higher / 3T



4. Slower / Aig.

Correct Answer :-

« Higher /3=d

10) How do learning theories characterize the role of the parent in their child’s
development? / 38T R, ATar-Rar 7 sfAwr F 3aF T=a F Rew 7§ @
Rfrea Fa 82

1. As trainers / If18Tehl o ¥ H
2. As teachers / T21&Tehl & &7 &

3. As partners/ﬁq'l?'ﬂ'cﬂﬁ & T H
4. As supporters / THYHT & T 7

Correct Answer :-

o As trainers / 9T21eTh o §T H

11) Sociometric analysis of a group is used in measuring personality as a/an

method. / T THE & FATSATT fARWAOT &1 IUANT FfFdea H fafr &
T & A & A A S g

1. Observational / W&ToT
2. Objective / TEI[ASS
3. Subjective / TTFdAsE

4. Projective / 9&IdY

Correct Answer :-

« Objective / ER—T:lDﬁTVé

12) According to Williamson, which of the following is the benefit of Directive Counseling /

Rfowwas & aqaR, fafaf@a & @ i e gt #71 amr @2

1. Emphasis is on the intellectual rather than the emotional aspect / HTdelTcHs Tgel & Tl

diefter 9T SR fear ST B

2. Does not guide counselee to be efficient and confident / $RTel 3R 3meaEd g & fau
WA o dTel & ARG el HdT Bl

3. Make counselee dependent / WAL ol aTe T TR F7=T)




4. Kills the initiative / 9goT &I adTAT

Correct Answer :-

« Emphasis is on the intellectual rather than the emotional aspect / HTdelTcHS Tgel & Tl

g X SR f&ar Smar Bl

13) Orthotic devices are designed primarily to J 3iryffesd 3gsIo #Y AET T
) % fav RBemga frar = B

1. None of these / 318 & IS =TgT

2. support a body part / R & 33 & FHIT So¥

3. repair a body part / R & BEH I AFAT el

4. replace a missing body part / =T glel aTel 391 I S8 ofdTlet

Correct Answer :-

« support a body part / R & 30T I AT ol

14) Assessments regarding the outcome of students’ learning is known as

assessment. / BT & AT F aRomA F v 7 e H Hediwd &
T # ST AT B

1. Diagnostic / =igTfeieh

2. Benchmark / STHTh

3. Formative / {dellcHN
4. Prognostic / fogreT

Correct Answer :-

« Prognostic / g

15) Which of the following orientations falls under the stage of conventional morality

according to Kohlberg? / @afaf@a & & &l @ Aol (3NRTeesT), Prgaedr &
AR TRAReE Afaswar & =@xor F Hada Arar 82

1. Orientation towards punishment and obedience/ GUS Tg 37T & 9fa W
(3MRTeere)

2. Social concern and conscience / GTHTTSIE Wﬂﬁ IR A=
3. Morality of universal ethical principles / aasifAs Afas H\(WIT I Afehar



4, Instrumental purpose and exchange / Hglddd 3%@1 3R fafmg

Correct Answer :-

« Social concern and conscience / TTATIOTHR H’é‘lﬂ'ﬂﬁ IR A9

16) Which of the following is not an example of extrinsic motivation? / fAFifaf@a & &

Pl ITETROT FT IgEI0T AL §?
1. Salary / ddel

2. Praise / 9T

3. Passion / Sfe]sT

4. Promotion / Uglealid

Correct Answer :-

» Passion / Slefel
o BN

17) Which of the following is TRUE when the teacher engages in Guidance and counselling

of children with special needs in school education? / STaf fY&T® ﬁa:mmﬂ fram & Ry

HTARIHATIHT aTe Fedl & AR 3 WA & avd WA &, T & & F1 ¥w

82

1. Teacher’s own professional growth is evident / f1&Teh &I I=T caTadT A AT TISC
gl

2. Teacher can get rewards, recognition and promotion / f216T icETgeT, AT 3R YgleaATd
a7 dohot gl

3. Under the teacher's guidance, students will feel secure and more engaged in the learning
process. / f1eTd & #ARTENT H, o7 31 & gfehar & ﬁ?ﬁi\qﬁ 3R 30w egea
AGHH |

4, Under the teacher’s guidance, students get special attention./ T216T & AT H, BT &
Ay 3@ ured g g

Correct Answer :-

« Under the teacher's guidance, students will feel secure and more engaged in the learning

process. / T8 & AN ﬁ,mmﬁmﬁgﬁ%aﬂ?mw
AEGH HI|

18) Which of the following principles refers to the understanding that objects continue to

exist even when they cannot be sensed? / fFTfaf@d HA G #le @r ﬁ{%ﬂﬁ $H HHS &I



Hefita FXar § B avqu a9 ot Aleg wh § 99 35 @ A e @ fwar o
HHT?

1. Conservation / TI&TOT

2. Object permanence / IE] TaTRica
3. Theory of mind / Hel ohT ﬁl?{'iﬂ?r
4. Animism / Sffgdrg

Correct Answer :-

« Object permanence / T&J U

19) Thorndike theory of trial and error learning has emphasized the importance of

./ YIeT-FfE HfterT & aeisEE R & & Agcd W SR

feam 21

1. Motivation / 90T
2. Rewards / QUEPR
3. Praise / 91T

4, Punishment / G3

Correct Answer :-

« Motivation / IO

20) Punishment and rewards are the components of .18 3T WicaEd
& geHh B

1. Behaviourism theory / €gdgRdIq ﬁl’a}’:TI'H

2. Design-Based Research methods / f3SIga-3menia 3-1?1??11?[ fafer
3. Humanism theory / Alladrdrg fagurd

4. Connectivism theory/ HITSThdT AU

Correct Answer :-

« Behaviourism theory / SIdgRdlG TaeHTd

21) Child-centered education uses / STcl-hfgd AT fAFT T ITFT FIAT %:

1. Divergent exposure / [afaer gl



2. Year-end appraisal / a¥-37d ?Fl“mil'lm
3. Linear exposure / T 92T
4. Disciplinary force / 3e]RMTHATcHD Fel

Correct Answer :-

« Divergent exposure / Tafaer geeTe

22) OCD denotes: / 3TES FT 37T §:

1. Obsessive Conduct Disorder / 3iTe0fad Hhaae BT

2. Obsessive Compulsive Disorder / 388 Fqiedd T3S

3. Oppositional Compulsive Disease / 3TNToeleTel hFdledd 3dIST
4. Oppositional Cognitive Disorder / 3qifSee Fiesifea BT

Correct Answer :-

« Obsessive Compulsive Disorder / 3Ts0if8@d Feufeda BEET

23) The same-sex friendship prevails during ./ FATA-fer e & g
yafaa gt 8

1. Early adolescence / URTAS fheiRrasar
2. Early childhood / YRf&e% sSageT
3. Late adolescence / AET TohenRTa<€m

4. Late childhood / ALT dd49ad

Correct Answer :-

« Early adolescence / URTAS fheirasar

24) The flexibility of children to adjust to any circumstance is known as ./ T st
Rftufa & gaoa @ a a4t & addua &t & T H AT AT

1. Rigidity / T&dl
2. Desirability / aT&ei1adr
3. Inability / T&THAT

4. Plasticity / TeleT2iTeldl



Correct Answer :-

« Plasticity / &eleTeiTerdr

25) What IQ score tends to identify gifted children? / Sfasimemell a=al i ygdarT HI &
FIF-H1 JEFY FPR Tged g 87

1. 170 or higher / 170 T 318
2. 130 or higher / 130 IT 378
3. 70 or higher / 70 JT 378

4. 120 or higher / 120 3T 37+

Correct Answer :-

« 130 or higher / 130 3T 3

26) What type of response is learned through the process of classical conditioning? /
AT ITaera (FeTfAher HIATAT) T gfFar & amegw F Fw gawr A gfafea
e Fret 82

1. Unconditioned response / ygﬁvraaa: gfafear
2. Reinforced response / Yafeld 9fafshar

3. Conditioned response / a'l?l'l?lﬁg'%l?f CIGIERIN

4, Neutral response / deEd FTfshdr

Correct Answer :-

« Conditioned response / aﬂ@'ﬁjﬁ'ﬁ EIGIER

27) The best method to study growth and development of the child is / f&dt
T @Y e 3R e 71 rvae T 1 gafeawr ada T @

1. Comparative Method / Jelelicaeh fafer

2. Developmental method / faerarcas fafer

3. Statistical Method/ @ifEIhT fafer

4. Psychoanalytic method / #AIfa2evuTcAs® fafer

Correct Answer :-

. Developmental method / fasrarcaAs fafer



28) Hierarchy of needs is an important perspective of motivation was propounded by / TFRIRATHT
FT YSTTHHA, IO FT TF Ageaqor IR ¢, O g% gamr wfawfea fram o o

1. Maslow / ATEAT
2. Piaget / OIS
3. Pavlov / 9Tdelld
4. Freud / 1IS

Correct Answer :-

« Maslow / #ATEST

29) Which of the following operations helps us to validate information? / AFIfaf@d A &
i W - (M) T TTTFR) F AT T & A FLdl 872

1. Evaluation /EFJ\FJW

2. Divergent thinking / 379aRT =i
3. Convergent thinking / 3TTRERT ideT
4. Cognition / T31TeT

Correct Answer :-

» Evaluation / HedTehel

30) Among the following, mutual support is found more in/ fAFIfaf@d ¥ ¥ IREIRF
AT 39 3¥F g Frar §:

1. Groups / €¥g
2. Teams / €T

3. Society / HHATST
4. Classrooms / haTTITE

Correct Answer :-

o Teams/&IH

Topic:- General Hindi (L1GH)

1)



fR-9R 9 $© Ted 38T 81 TH A3 Sia--Qell U1 gued R H €} 81 ITP A1Y 317 38T © TS =41
a1-g=M-IUUIFaTaTe BT i1 SWIEH e IR 9k § IRI 3R | I8 IcUTe IS Y 3; 3Tud Wi &
e B, onud g@ & Y 31 ' &Y saran gqd S 31 SUUN-UNT ) g9 B | TP &H I5aTd Tl § 7%
fRufa & Iaure at emud 1T 8, IR 39 I8 Y@ oid & % SH-3Fem 3o & a1gta | Syt afes oft
¥ad 781 € ¥ 31U Iaure &I FAffd ga o ) §

farenfRyar 5t Il / TR URT UST B, S SMUH! gUA P ofl-ds IR & e @t e §1 e
Sia o 17 314 aTelt axgail 31 g1 ATl gy-URe afgu? gg gidl &1 Aidl ST IuStar a1 8, 98 Ue
Pt gIlY geTaT 3| UT TSI B HOgd T § MY Ig "Iul TR&T 3T 81 98 9d HRP ol diF-9R IRe
STT-3MTT Hd &, fhel Ve &1 A’ Bidar 81 $Ig 99a a1 A1 & TON F WP &, BIg BY-gial
GRT WP U7 917 F1efa 3R @it el | 941 81 S d1e g7 Aforg ) afe 9w area1 8, ot = +ft ereot
BT IR | PR, T, g1aE, Ugd SR WIS Pt &HdT | HEHT-3AT, T A gHh? U | Yg DI iy A
TTA & e ey arwr WY Tnfee ) R oiv oft et 8t Tt ®; wR saet € el &1 faa wrw T3t 8t S,
HfP ST 2MaS ggfagiia o Pt sis § T wig w31 Aded wares ot s @ a0pd F &+t
qreft 3-8% HIE IHA TA-T4 I<UTE FSd A1 &1 Wi 81 3R, U A gol G B, g W vl | TP
TR MU IRR B TRY-ATeT ITT 8, GERT G ApdaT 7, FRT ot I Ut 3¢ Har 81 98 diforg
R wrd & Higd &1 Tgw, 37®T H-uRie AIg- | g=Ts b1 3 Jug argd 8, 98 difoe | IR &t ufam
TG 184 &1 T8 AT Y ST | a1t A1 | TR o) T 1@ & e ag difve-ugft @, wR smud
%ﬁ'ﬁﬁ'ﬁ'@'\rm%ﬂl#mnﬁmaﬁaﬂéﬁwmwm-mmaﬁﬁﬁmmﬁmm
|

ST TR BT UgHR -1 IS TT YA BT Ik Jarse|

U= 39 SGATd A ST T 969 8T § S} 37 frwet aafdfa g1d &1 33 &2
1. IRA SR ITE

2. 79 3R 98

3. dicd iR g9

4. Sia-2relt 3R g@

Correct Answer :-

. IRA 3R IdG

2) §R-fR 99 PO 9¢a |1 21 TP 1S Sia=-Lell YT aoied ST HX 6T 81 SHP ATY 31T 8T & TP
741 Sftaq-gxiF-IuHigTarg &7 g3 | I 9¢M W Wk § IR} 3R | g IATeH 3MUSP fore §; 3mud
W F g 3, Siusds @ & g 31 g &1 aren 9ed s § | SUUNT-UI § 9 31 Uw g deard
3T g % fRufa #1 Iaure @Y 3mudb forw 8, R 3y 9 Y& oiTd & fob 9M-3FeTH 3iTS & HIgid o SiuehT
IR WY Iga 3871 @ 3R 3Ty IuTe &) gHitd gl SR g1

faarRrar &Y Gl | IR W1 UST 8, S STUS! gUH $1 oil-als SR & fFRaw aft el 81 e
Sitas § 1 3= Tl axgsi i g o gy-URe a1f3u? 98 gidl 3t Hidl ST IHS AT 99141 3, 98 Us
Pt gIY TeTaT 3| UT TSI B AU T § 3NY Ig "IUI GR&T' 3T §1 98 99 HRP ol dH-9R e
SET-3(TT Fd &, fpet U &1 ‘A’ Bidar 81 g a9a a1 19 & JoN F R 8, HIs B-gHal
TR TPpd T4 AT Tl 3R @il dwl & o1 31 51 =8 g7 eifore | afe 3 3rea1 @, df g1 Wt sreot
BT AT PR, M, TTdE, UgT 3N WIS DI &HAT | SET-3ET, Th & Jeh UH | e P gy A
T & o ey ar=r Y wfge R ok oft ddlt Bt It ]; R 3ant € il &1 faw wrwl T3t 81 S,
ifP 39 A ggfawiia 3R Piadt sis & @ie wie o3| Wied yare=i @t s o 90pd 2 ot
qrefl 3-8% HIE IHH TA-T4 IUTE FSd o1 &1 Wi g1 IR, U A gol G 3, g W vl | TP
YR MU TRR B aRI-ATeT W1 8, GERT U AhdaT g, FHaRT ot I STIB! I&MT Bl 81 9§ Aiforg
R wrl & died &1 35, 39T A-uHe A1 | TS BT 3 U 9184 €, I Aifore | IRR ) ufdw
@ 9184 € | Ug oI Y 7ord § g1 JigH | gwdt @) 79 T & fore gg Aifvre-wgiht 8, R snud
%ﬁ'aa‘ﬁ'ﬁtmméﬁnﬁmnﬁmﬁﬁéﬁnmwm-mmaﬁﬁﬁmmamm
|



ST TR HT UgHR 12 ID T YR BT Ik Ja1gC|
WRH: SUHIIT BT FIT YOI GR&T a1 82

1. ATSY-aT=

2. 9IS M

3. QYU

4. QY-S

Correct Answer :-

. TYWE

3) MR- 99 $© g T6T1 81 TP A3 SHa=-iel U1 geia RATUT R I8! 31 SHP 1Y 311 38T 3 Th
471 Sfig9-3=fF-IuHdrare &1 g3 | SdTed 9 W Wk € IR) 3R | g8 SdTe 3y e §; 3musd
URT & T 8, 3 g@ & Y ] 1 '@ 3 e 9ad 78 81 STHRT-UNT € & ¥ 1 TP G&H deard
3T g 1S fRufar #1 Iaure ot 3mud fore €, w3y g Yo 91 § fr wM-3FwM et & Aretd § SimuehT
it WY 95a Y87 © 3R U Iaurg ) FHitd ga &I 78 €1

faenfRyar $t 9l ¥ IR URT UST 3, S DT gUH P ofl-drs BT # FRar @t wdt 71 e
Sita o 17 314 arelt axgait 31 g ATl gy-Uke @ifgu? gg gidl &) Aidl ST TuStar s €, 98 Ue
Pt gy geTaT 31 UT TSI B AOgd T & 3NX Ig "IUf TR&T 3T 81 98 9d HRP ol dH-IR e
ST-3MTT Hd &, fhet Ve &1 A’ Bidar 81 $I5 9a a1 19 & o0 F WRPR &, HIs BY-giHal
RI Wpd a1 9= gEd MR Wi acl @ 591 81 i 91e g difore| af 9 oreat 8, af g=1 +ff sreat
BT UIRT | TR, T, I1GE, Ugd 3R HBTS i &HAT H HET-3T, TP J g U | §g DI gy &
T & e ey arwr W Tnfee ) R 8iv off et 8 el §; WR gaet € <fiel &1 f9a Srw TsT 81 S,
P 3Ty TG TG 3R Fadt s € WieAT wdg B3| Wed yanu=t #t s o auepd & S+t
qTell B-8% U8 S T4-14 SIS Jod oTd & | Wi &1 A, U & goodt Gg 8, g A a1 TP
YR 3P TRR B aR-ATe ITAT 8, GERT G b 7, FHRT ot | Ut 3¢ Har 21 98 ifore
R Rt & Jed &1 353, 3991 AAuHe A1 | TS b1 3 U 9184 €, I8 difore | IRR @) ufdw
@ IT8q € | U8 e Y 7imera & 9+ |1ge | gudt @) T ve & e g difSre-ught 8, wr snuds
%ﬁa&ﬁﬁﬁwmﬁmmnﬁmaﬁaﬁéﬁmmwm?ﬁvmaﬂﬁaﬁmmﬁmm
|

ITYe TR BT UgH 19 IR T U= HT Sk gd13¢|
U= afe gy-URe 3T 81, SR T 3T BT IIRe?
1. %g arer

2. A

3. TS

4. AT3Y-ATA

Correct Answer :-

4) - 99 $© 95T @1 8| TP % Siia--2ell U1 Teva AT H & 81 TP 1Y 3T IeT 8 TP
741 Sftaq-gxiF-3Iuiedrarg &1 ¢xiH | IATEH 9¢M W R § IR} 3R | g IUTeH 3MUP fore 8; 3mud
U & T 8, Smus g@ & e 81 g’ 31 saren 95a 718 3| STHNT-HT € g9 71 TP J&H Sgard



3T ¢ % fRufa #1 Iaurg @Y 3mudb forw §, R 3y 9 4@ ord € fob 9M-3FeTH ST & HIgha | SiueT
Tfea it 9ga 78T & SR 3Mu Ieute Y gHifd g ST e 2

fararRyar & Il | IR HRT UST €, S STUS! g $1 oil-als HIRm & fFRaw aft el 81 e
Sitas ® 1 3 arelt axgsi &t g v gy-tke Mftu? g7 aral & Aidl ST IuStar 9911 3, 98 Us
1 gifY geTaT 81 UE AYS! B AVIgd $eal @ 3R T8 “quf RaT IqT 81 98 9E P Sl diH-uR e
T ET B &, foredt W &1 Ao’ widar 81 #15 a9 a1 19 & 7oN & WRQR 8, Bis »-gfat
RI Wpd a1 9= g9 3R Wi dcdl A 5991 81 i 918 g ohifore| afe 9 oreat 8, oY g=1 off sreat
BT AT | TR, T, F1GE, U5 SR HBTS Pt &HAT H HET-3T, U J g U | §g DI iy A
T & fore urey arwn oft anfew | R 8k oft &<t 8t et 3; W gant € e @1 faa St ws1 8 e,
Hife 39 TG Tgfaid 3R Sl i 81 Wi udg o3 | Higd wneAl ot Wi df a0epa o &t
qrell 3-8X WTE SHA -7 IATE JS4 W14 81 Mg &1 &, T ¥ goal WY B, g A a1 T
AR MU TRR B aR-ATeI W1 8, GERT G At B, FRT ot  uat 381 Har 21 98 sifore
R wrt & Hied &1 Tgw, 37®T u-uRie AIgH | TS b1 3 JugET a1gd 8, 98 difoe | IR &t ufam
TG 184 &1 T8 AT Y[ TS | g1 A1 | THS D) T 1@ & e ag dfvme-ugift 8, w) smud
%ﬁ?{d’ﬁ'ﬁ@wmﬁlﬁmnﬁmﬁaﬁéﬁﬂmwm-mmaﬁﬁﬁmﬁmﬁmm
|

STYeRT T B UGS A1 D T U PT SR A15¢|

w: fo ot 1 wfgensii @1 SRAT Coa W o Hiaa ot 9 gidl 82
1. T 3R A IR

2. AL 3R &H gaR

3. faFeraet 3R & T

4, 3Tg ALY AR T

Correct Answer :-

. guig 3R A9 &R

5) §R-R 99 PO 9¢a /T 21 TP 1S Sia=-Lell YT aoied ST HX 6T 81 SHP Y 31T 8T ¢ TP
741 Sftaq-gxiF-IuHieTarg &7 g3 | I 9¢M W Wk § IR} 3R | g IATe MU fore §; 3mud
W F g 3, Simuds @ & g 31 g &1 e 9ed TS § | SUUNT-UI § 99 31 U g deard
3T g % fRufa #1 Iaure @Y smudb forw 8, R 3y 9 Y& oiTd § fob SiM-3FeTH 3iTS & HIghd | SiuaT
IR ft 9ca TeT 8 3R 3Mu IuTe =) JHffa gd &1 ¥8 &l

faarRrar & Grafal | IR YR UST 8, S STUS! gUH 31 oil-als SR & fFRaw aft wd 81 e
Sitae § 1 3= Tl axgei i g1 Ao | gy-URe 1f3u? 9% qidl ®i Hid! ST IHS AT 91T 3, 98 Us
Pt gIY TeTaT 3| UT TSI B AU T § 3NY Ig "IUI GR&T' 3T §1 98 99 HRP ol dH-9R e
SET-3(TT Fd &, fpet U &1 ‘A’ Bidar 81 g aga a1 119 & JoN ¥ R 8, HIs B-gHal
TR WPpd T4 AT Tl 3R @il dwl & 91 31 51 =8 g7 efiforg | afe 3 3r=a1 8, ot g1 Wt sreot
BT AT PR, M, §TdE, UgT 3N WIS DI &HAT | SEHT-3ET, T & 9eh UH | Ye P gy A
T & o ey ar=r Y wfgu R ok oft ddlt Bt It ]; R 3ant € i &1 faa wrwl T3t 81 S,
ifP 39 A vgfawiia 3R Piadt sis & @ie wic o3| Aied yare=i @t s o 90epd o ot
qrefl 3-8% HIE IHH TA-T4 IUTS FSd o1d &1 Wi g1 IR, U A gobl Qg 3, g W vl 1 TP
YR 3 IRR B aR-ATeT W1 8, GERT U AhdaT g, FHaRT ol | STIB! I&MT Bl 8 | 9§ Aiforg
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